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1.  Answer any two : 20

(a) State the importance of the Human Behaviour Aspects in the Management
Accounting.

(b) Explain the difference between cash Flow statement and Fund Flow Statement.
(c) Accounting data and decision making process.
(d) Accounting System and Motivation.

2. Balance Sheet of Shubhlabh Ltd. as on 31¥ December, 2014 is as under : 20
Liabilities 3 Assets 3

Equity Share Capital 8,00,000 | Goodwill 1,20,000

Reserve and Surplus 7,24,000 | Free hold building 5,20,000
Creditor 3,96,000 | Fitting Instrument 4,00,000

Bank Overdraft 60,000 | — Depreciation 1,70,000 | 2,30,000

Stock 4,60,000

Debtors 6,50,000

19,80,000 19,80,000

Company has projects for the year 2015 on the following assumption.

In the Feb-2015 20,000 Equity shares of ¥ 10 each will be issued at a premium of ¥ 5
per share. New fitting instruments worth I 1,40,000 purchased for cash. Write off
goodwill for ¥ 60,000. Stock of ¥ 5,80,000 at the end of the year 2015.

Following are the transaction during the year.

Sales ¥ 48,00,000, Purchase I 37,20,000, General Expenses ¥ 7,20,000 and Directors
remuneration ¥ 1,60,000.

Credit allowed to debtors 2 months. Credit allowed by creditor 1%2 months. Provide
depreciation on fitting at the rate of 10% by reducing balance method.

Prepare Fund flow statement for the year 2015.
OR
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2. Following information of Nishit Ltd. are taken for the year ended as on 31-3-2015. 20

(1) Working Capital % 90,000
(2) Current Ratio 2.20:1
(3) Liquidity Ratio 1.25:1
(4) Stock turn over

(Average of opening and closing stock) 6 times.
(5) Gross Profit Ratio 40%
(6) Fixed Assets to share holder’s Equity 0.80:1
(7) Debtor’s Ratio (360 Days) 45 days
(8) Earning per share 34
(9) Creditor’s Ratio 72 days
(10) Earning for the year as a percentage on share capital 40%
(11) Operating Ratio 90%
(12) Number of Equity share 16250

The opening stock was less by ¥ 12,500 than closing stock. Purchase includes ¥ 27,500
for carriage inward.

There are no differed expenses, prepaid expenses, long term liabilities and intangible
assets in the books of accounts.

Prepare Trading and Profit and Loss Account for the year ended on 31-3-2015 and
Balance Sheet as on that date.

3. Write any two : 20
(a) Define cost of capital. Explain its importance in Financial Management.
(b) What is the weighted average cost of capital ? How it is calculated ?
(c) Explain the concept of Zero-base Budgeting. Explain its advantages and
limitation.
OR
3. Ashok Ltd. is considering the purchase of new machine which will carry out operation
so far performed by labour. There are two alternative presented plant ‘X’ and plant “Y’.
From the following information you are required to prepare a profitability statement

and work out the pay back period for each plant : 20
Plant Plant
“X” “Y”
Estimated Life of Plant 5 years 5 Years
3 3
Cost of Plant 9,00,000 15,00,000
Cost of Indirect Material 36,000 48,000
Estimated saving in scrap 60,000 90,000
Additional maintenance cost 1,14,000 1,62,000
estimated saving in Direct wages - -
No. of employees not required 900 1,200
Wages per Employee 600 600

Taxation rate is to be taken at 50%. Ignore depreciation for the purpose of calculating
tax. Which plant would you recommend ?
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Pari Corporation produces 12,000 units at 100% capacity. The following information is

obtained from the books of account :

Production 8400 Units | 10800 Units
3 3
Repairs and Maintenance 15,000 16,800
Salary 30,000 30,000
Power 54,000 60,000
Inspection 6,000 7,200
Shop Labour 21,000 27,000
Depreciation 42,000 42,000
Consumable Stores 42,000 54,000

The rate of production per hour is 10 units. Cost of direct material is I 10 per unit and
direct wages per hours is < 40.

From the above information prepare a Flexible Budget at 100%, 80% and 60% capacity.

Write any two :

OR

(1) Internal Rate of Return method.

(2) Explain the meaning of capital and profit for purpose of determining the return of

capital employed.

(3) Significance of the cost of capital.

The following are the particulars of a Co.

Particular

Raw Material

Direct Wages

Overhead expenses
Total Cost
Profit
Selling Cost

Per Unit

105

210

280

4

42
63

70

Additional Information :

(1) Estimated output is 67,200 units yearly.

(2) Raw materials are in stock on an average for 1 month.

(3) Raw materials are in process on an average for 1/2 month.

(4) Finished goods are in stock on an average for 1 month.
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(5) 20% of the production is sold against cash.

(6) Credit given to debtor for 1 month.

(7) Credit allowed by suppliers is 1 month.

(8) 10% of the raw material is purchased against cash.
(9) Lag on payment of wages — 1 week.

(10) Lag on payment of overhead expenses 2 weeks.

(11) Company wishes to keep I 52,500 cash on hand which includes ¥ 17,500 Bank
overdraft which is still not utilized.

Assume that Sales and production follow consistent pattern. Consider 48 weeks for a
year and 4 weeks for a month.

Find out Net Working Capital.
OR
5. Write any two : 20
(1) Sources of working capital.
(2) Factors affecting working capital.
(3) Discounted cash flow method.
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